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Topic ttest of a multiple regression model
Menu

(L]l using 12 observations on each variable, a computer program generated the following muliple regression model
Dictionary

$=84.7+1.74x, ~448x,~3.17x,~8.25x,

Ifthe standard errors of the coefficients of the independent variables are, respectively,

075, 342, 2.99, and 585,

Quiz
can you conclude that the independent variable x, is needed in the regression model?
Let B], BZ, ey Bq denote the coefficients of the 4 variables in this model, and use a two-sided hypothesis test and
Help

significance level of 0.10 to determine your answer.

Carry your intermediate computations to at least three decimal places and round your answers as specified in the table.
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Carry your intermediate computations to at least three decimal places and round your answers as specified in the table.

*y How do | enter a symbol for Statistics?
The null nypothesis: a0 P P v
b r x

e stematenypotesis |, 10 5 5]
O | 0o T

The type oftest statisic: Chaose ane O=0|0<0/C=0

The value f e tec sttt b0 0-u-g

(Roundto atleasttwo decimal |[] I

places)

The twa critical values atthe 0.10

level of sgrifcance.
®Rounao atieasttwo decimal |0 20

places)

Ganyau conclude thathe independentvariabl x; s e o

needed inthe regression model?
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